

ΣΥΝΕΧΕΙΑ ΟΛΟΚΛΗΡΩΣΗΣ ΚΑΤΑ ΠΑΡΑΓΟΝΤΕΣ

$$\int x \cdot \sqrt{1+x} dx = \int x \cdot \underbrace{(1+x)^{1/2}}_{g(x)} dx = \int \underbrace{x}_{f(x)} \cdot \left(\frac{2}{3} (1+x)^{3/2} \right)' dx =$$

$$= x \cdot \left(\frac{2}{3} (1+x)^{3/2} \right) - \int \cancel{x}' \cdot \left(\frac{2}{3} (1+x)^{3/2} \right) dx =$$

$$= \frac{2}{3} x (1+x)^{3/2} - \frac{2}{3} \int (1+x)^{3/2} dx \quad (**)$$

$$I_1 = \int (1+x)^{3/2} dx = \int u^{3/2} du =$$

$$= \frac{2}{5} u^{5/2} = \frac{2}{5} (1+x)^{5/2}$$

$$\begin{aligned} (u^{5/2})' &= \frac{5}{2} u^{3/2} \Rightarrow \\ \Rightarrow \left(\frac{2}{5} u^{5/2} \right)' &= \\ = \frac{2}{5} \cdot \frac{5}{2} \cdot u^{3/2} &= \\ = u^{3/2} \end{aligned}$$

$$\begin{aligned} (**) \quad \frac{2}{3} x (1+x)^{3/2} - \frac{2}{3} \cdot \frac{2}{5} (1+x)^{5/2} + C &= \\ = \left[\frac{2}{3} x (1+x)^{3/2} - \frac{4}{15} (1+x)^{5/2} + C_1 \right] \end{aligned}$$

ΔΟΚΙΜΗ $\rightarrow 3/2$

$$\left(\frac{2}{3} (1+x)^{1/2} \right)' =$$

$$= \frac{2}{3} \cdot \frac{1}{2} \cdot (1+x)^{-1/2} \cdot 1 =$$

$$= \frac{1}{3 \sqrt{1+x}}$$

Για να ενrijουν τον I_1

Θέτω: $1+x = u \Rightarrow$
 $\Rightarrow dx = du$

$n-1 = 3/2 \Rightarrow n = 5/2$

$$\left(f(x)^n \right)' = n \cdot (f(x))^{\overline{n-1}} \cdot f'(x)$$

$$n-1 = 1/2$$

$$\left[(1+x)^{3/2} \right]' = \frac{3}{2} \cdot (1+x)^{1/2} \cdot (1+x)^{\overline{1}}$$

$$n = 1 + 1/2$$

$$n = 3/2$$

$$\left(\frac{3}{2} \cdot (1+x)^{3/2} \right)' = (1+x)^{1/2}$$

ESHTHT

$$\int \sin^2 x \, dx = \int \sin x \cdot \underline{\sin x} \, dx =$$

$$= \int \sin x \cdot (\underline{\cos x})' \, dx = - \int \sin x \cdot (\cos x)' \, dx =$$

$$= - \left[\sin x \cdot \cos x - \int (\sin x)' \cdot \cos x \, dx \right] = - \sin x \cdot \cos x + \int \cos x \cdot \cos x \, dx =$$

$$= - \sin x \cdot \cos x + \int \cos^2 x \, dx = - \sin x \cdot \cos x + \int 1 - \sin^2 x \, dx \iff$$

$$(\cos x)' = -\sin x.$$

$$-(\cos x)' = \sin x$$

$$\sin^2 x + \cos^2 x = 1 \Rightarrow \cos^2 x = 1 - \sin^2 x$$

$$\int \sin^2 x \, dx = -\sin x \cdot \cos x + \int \underbrace{1 - \sin^2 x}_{\substack{\uparrow \\ 1} \quad \substack{\uparrow \\ \sin^2 x}} \, dx \Leftrightarrow$$

$$\int \sin^2 x \, dx = -\sin x \cdot \cos x + \underbrace{\int 1 \, dx}_x - \int \sin^2 x \, dx \Rightarrow$$

$$\left. \begin{aligned} \int f(x) + g(x) \, dx &= \\ &= \int f(x) \, dx + \int g(x) \, dx \end{aligned} \right\} (x)' = 1$$

$$\Rightarrow \int \sin^2 x \, dx = -\sin x \cdot \cos x + x - \int \sin^2 x \, dx \Rightarrow$$

$$\Rightarrow 2 \cdot \int \sin^2 x \, dx = -\sin x \cdot \cos x + x \Rightarrow \int \sin^2 x \, dx = \frac{1}{2} (-\sin x \cdot \cos x + x) + C$$

ΠΑΡΑΤΗΡΗΣΗ 2 - ΑΝΟΡΤΩΣ

$$\int \underline{-\cos^2 x} \, dx = + \underline{\frac{\sin^3 x}{3}}$$

$$\left(\frac{\sin^3 x}{3} \right)' = \frac{1}{3} \cdot \cancel{3} \cdot \sin^2 x \cdot (\sin x)' =$$

$$= \underline{\underline{\sin^2 x \cdot \cos x}}$$

$$\left(\frac{n}{f(x)} \right)' = n f(x)^{n-1} \cdot f'(x)$$

$$(f(x))^n \equiv f^n(x)$$

$$(\sin x)^3 \equiv \sin^3(x) \neq \boxed{\sin(x^3)}$$

$$\frac{d}{dx} (\sin x)^3 = 3 \cdot (\sin x)^2 \cdot \frac{d}{dx} (\sin x) = 3 \cdot \sin^2 x \cdot \cos x.$$

$$\begin{aligned} \frac{d}{dx} (\sin(x^3)) &= \cos(x^3) \cdot \frac{d}{dx} (x^3) = \\ &= 3 \cdot x^2 \cdot \cos(x^3) \end{aligned}$$

$$\boxed{\begin{aligned} (\sin(f(x)))' &= \cos(f(x)) \cdot f'(x) \\ ((f(x))^n)' & \end{aligned}}$$

$$= \frac{1}{2} x^3 e^{2x} - \frac{3}{4} x^2 \cdot e^{2x} + \frac{3}{4} x \cdot e^{2x} - \frac{3}{8} e^{2x} + C_1$$

$$\bullet \int x^3 \cdot e^{2x} dx = \int x^3 \cdot \left(\frac{e^{2x}}{2}\right)' dx = \frac{x^3 \cdot e^{2x}}{2} - \int 3x^2 \cdot \frac{e^{2x}}{2} dx = \frac{x^3 \cdot e^{2x}}{2} - \frac{3}{2} \int x^2 \cdot \left(\frac{e^{2x}}{2}\right)' dx =$$

$$= \frac{x^3 \cdot e^{2x}}{2} - \frac{3}{2} \left[\frac{x^2 \cdot e^{2x}}{2} - \int \cancel{x} \cdot \frac{e^{2x}}{2} dx \right] = \frac{x^3 \cdot e^{2x}}{2} - \frac{3}{4} x^2 \cdot e^{2x} + \frac{3}{2} \int x e^{2x} dx =$$

$$= \frac{x^3 \cdot e^{2x}}{2} - \frac{3}{4} x^2 \cdot e^{2x} + \frac{3}{2} \int x \cdot \left(\frac{e^{2x}}{2}\right)' dx = \frac{x^3 \cdot e^{2x}}{2} - \frac{3}{4} x^2 \cdot e^{2x} + \frac{3}{2} \left[\frac{x e^{2x}}{2} - \int \frac{e^{2x}}{2} dx \right] =$$

$$= \frac{x^3 \cdot e^{2x}}{2} - \frac{3}{4} x^2 \cdot e^{2x} + \frac{3}{4} x \cdot e^{2x} - \frac{3}{4} \int e^{2x} dx =$$

$$= \boxed{\frac{x^3 \cdot e^{2x}}{2} - \frac{3}{4} x^2 \cdot e^{2x} + \frac{3}{4} x \cdot e^{2x} - \frac{3}{8} e^{2x} + C}$$

|B' TPONOS|

$$\int \sin^2 x \, dx =$$

$$= \int \frac{1 - \cos 2x}{2} \, dx =$$

$$= \frac{1}{2} \left[\int dx - \int \cos 2x \, dx \right] =$$

$$= \frac{1}{2} x - \frac{1}{2} \int \cos 2x \, dx =$$

$$= \frac{x}{2} - \frac{1}{2} \int \cos(u) \cdot \frac{du}{2} = \frac{x}{2} - \frac{1}{4} \int \cos u \, du$$

$$= \frac{x}{2} - \frac{1}{4} \sin u + C = \frac{x}{2} - \frac{1}{4} \sin(2x) + C$$

$$= \frac{x}{2} - \frac{1}{2} \cdot \frac{1}{2} \cdot 2 \cdot \sin x \cdot \cos x + C = \frac{x}{2} - \frac{1}{2} \sin x \cdot \cos x + C$$

$$(1) \Rightarrow \frac{\sin^2 x = 1 - \cos 2x}{2} \checkmark$$

$$(2) \Rightarrow \frac{\cos^2 x = 1 + \cos 2x}{2} \checkmark$$

$$(3) \Rightarrow \frac{\sin^2 x + \cos^2 x = 1}{1} \checkmark$$

cos(f(x))

u=f(x)

$$2x = u \Rightarrow$$

$$\Rightarrow \frac{du}{dx} = 2 \Rightarrow$$

$$\Rightarrow \int du = 2 \, dx$$

$$\int \frac{du}{2} = dx$$

$$\sin 2x = 2 \sin x \cdot \cos x \quad (4)$$

$$\cos 2x = 2 \cos^2 x - 1 \quad (5)$$

$$\cdot \int \cos^2 x \, dx = ???$$